7 II \\\' .
2SS

Richard Stewart Williams Limited

Protech House
Copse Road, Cobham, Surrey. KT11 2TW Telephone: 01932 868377 Fax: 01932 865515

16th October 1996

H\i‘l&uuﬁl‘uuuuuuuuu._ i it b e

INVOICE NO. 20146/W961002 .

ASTON MARTIN DB5 ESTATE - TNH 36 - 36,354 MILES.

GEEEIBABREG

TO: Removing battery. Cleaning battery compartment and fitting new
battery. Draining fuel tanks, fuel lines and carburettors of
stale fuel. Flushing out system with new fuel and filling both
tanks. Checking fuel flow and fuel pressure. Cleaning and
adjusting contact breaker’ points and spark plugs. Changing
engine oil and filter. Disconnecting and removing bonnet and
water radiator. Fitting new water pump and new water hoses and
clips as required. Refilling system with correct antifreeze

o=y content. Removing rear brake calipers. Setting up on mill and
machining out seized bleed nipples. Refitting calipers.
Fitting new bleed nipples to front calipers. Making up new
brake pipes for rear axle. Bleeding brakes. Removing perished
N/S front engine mounting and fitting new mounting. Removing
tyres from badly corroded road wheels. Fitting to new wheels
and balancing. Freeing off handbrake calipers and adjusting
handbrake mechanism. Greasing car. Fitting new wiper blades.
Removing exhaust downpipes. Fitting new stainless steel
downpipes. Cleaning front jacking points and master cylinder
mounting bracket and re-undersealing. Cleaning engine and
engine bay. Removing N/S door interior panel. Cleaning window
lift motor contacts and refitting door frame. Presenting car
for M.O.T. Carrying out pre-delivery check list.

¥
:
|
i
|
|

)
;:l
H
4
i
]
1
3
,.E

TR

ATETRYRTASY

RN oo d e

L B A

| ~ . -
e o o L T St R \ |/ ’ e, Wil
'\_ h ",—\:, ey o
- - in i ne e 3 ioa I3y 13

Labour £2600.00

(ol W

VAT Registration No. 236-9661-32
Registered Office: 29-39 London Road, Twickenham, Middx. TW1 3SZ - Registered in England No. 1303219

2

enwvrvﬁﬁnunnmhnﬁﬂnﬁ&ﬁﬁﬁﬁhnhﬂﬂ

A :/l" /
{




#«

L

4
¥
3
K
b, o]
£
L
- _-E
h? <l
e
Az

1] bl 8o i

- 2

{

’ﬁ‘.

-

R TR O 3 S P

Ll g L' & il TR A A 1

\

MATERIALS

1
1
1
1
1
1
1
1
2
4
4
2
i
2
2
X
4
2
2
i
1
2
2
2
g/
1
I
L
4

1
4
6
1
1
1
6
1
2
1
1
1
2
1

4

X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X

X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
b4
X
X
X
X
X

"

Battery 55563
S/Exchange Water Pump
Dowty Seal

Gasket

Top Hose

Bottom Hose

Water Pump Hose
‘Filler/Elbow Hose
Hose Rail/Header Tank
Hose Clips 1 35mm
Hose Clips 45 mm
Hose Clips 2A 35-50mm
Qil Filter

Hose Clips

Hose Clips OX 25mm
Hose Rail/Header Tank
1/4 UNF Bolts

Nylocs

Nylocs

Air Filter

Washer Copper

Fluid Reservoir Tops
Nipples

Bleed Nipples

Ltrs Castrol Antifreeze
Ltrs Castrol GTX

3 Way Union

Rear Brake Hose

Pipe Nuts

P Clip Cam Covers

Ali Cable Tie

3/16 Kunifer Brake Pipe
Ltr Castrol Brake Fluid
Front Pipe R/H

Front Pipe L/H

5/16 UNF S/Steel Nuts
Bolt

Downpipe Gaskets
Engine Mountings
Exhaust Strap Clamp Lower
Exhaust Strap

Wiper Blade

SKS Black -

Chrome Wire Wheels

Charge for washing car cover.

Misc. materials: Hub grease,
weights, primers, underseal etc.

b/f:

cleaning fluids, wheel

+ VAT

TOTAL

£2600.00

65 .80
359.56
0.67
1.00
11.00
11.00
7.00
3.00
24.00
2.16
3.00
1.50
5.00
1.08
0.84
12.00
1.80
0.44
0.50
8.00
0.35
90.00
172
2.00
19.25
40.20
6.00
9.00
4.96
1.00
1.00
4.50
6.24
104 .00
100.00
5.22
0.55
6.58
32.00
6.00
19.00
32.00
12.50
£1256.00
£ 12.00

th th th th h D

hhmthth!hl‘hl‘hlhl‘hl‘ht‘hmthh'\thlhthlﬁl'hl‘hl‘h!ﬂthrhthrhmthhrhrhththththl‘h

£ 32.00

£4923.42.
£ B861.59

£5785.01
£ 46.80
£ 27.38

£5859.19

-




i
. !
L
s
Sc
B <

l.-'.

AR

kL U e L L L A LA BB Y AT LR AP APAT 4 4T 47 4

et b el bbbt b bt bt L s Lo e G b il LsOLid

NG T b
e

o

— .. - = T  ——
= N
< W
4&#@“&“*

Richard Stewart Williams Limited

Protech House
Copse Road, Cobham, Surrey. KT11 2TW Telephone: 01932 868377 Fax: 01932 865515

4th September 1997

X=

]

INVOICE NO. 22029/W970901

ASTON MARTIN DB5 ESTATE - TNH 36 - 36,471 MILES

TO: Disconnecting and removing battery. Topping up, charging,
testing and refitting. Checking fuel flow and fuel pressure.
Removing faulty fuel pump and fitting new unit. Checking fuel
flow on both tanks. Draining righthand tank. Checking fuel
flow on left tank. Draining left tank and checking fuel flow on
right tank. Replacing alternator drive belt. Fitting new water
hoses and clips as required. Changing brake fluid. Fitting new
front brake pads. Checking condition of tyres. Fitting new

tyre to spare. Balancing all wheels. Changing engine oil and
. filter. Adjusting clutch. Checking and topping up
f differential oil. Checking and topping up gearbox oil.

Greasing car. Checking correct operation of jack. Replacing
missing feeler gauges from tool kit. Fitting new plugs, points
and condenser. Dismantling carburettors. Cleaning out. Re-
setting float levels. Re-assembling. Removing O/S cam cover.
Removing rubbing strip locating bolts. Refitting using new
washers. Refitting cam cover using new gasket. Rectifying oil
leak from oil temperature gauge. Adjusting both from wheel
bearings. Removing O0/S and N/S track rod ends. Fitting new
gaiters and new track rod ends. Re-setting track. Removing
rear shock absorber links. Fitting new links. Tightening both
wing mirrors. Presenting car for M.O.T. Carrying out pre-
delivery check list. Setting carburration.

LABOUR £1250.00

cont ds ot

VAT Registration No. 236-9661-32
Registered Office: 29-39 London Road, Twickenham, Middx. TW1 3SZ - Registered in England No. 1303219

B

MY

NI T Ll Bl




b/f:

MATERIALS

X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
p. &

X
Misc.

Feeler Gauges

Fuel Pump

0Oil Filter

Sump Washer

O Ring

Copper Washer

get Front Brake Pads
Avon Turbospeed 6.70 15 Tyre
Ltrs Castrol GTX

Drop Link

Rack Gaiter

Track Rod End

5/8 UNF Nut

7/16 Flat Washers

Ltr Castrol Brake Fluid
Aluminium Washers

Plain Washers

1/2 ID Heater Hose

Hose Clips 20mm

Cam Cover Gasket

Cam Cover Bung

Breather Gasket
Alternator Belt

Set Points

Condenser

Ltrs Castrol Antifreeze
Rotor Arm

Fibre Washers

Sidelamp Bulb

Materials: Cleaning fluids, hub grease, wheel

weights etc.

Ref:

+ VAT .

TOTAL

MAC

£1250.00

£
£

£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£
£

2.36
295.05
5.25
0.75
0.52
0.66
26.00
89.25
43.55
5150
60.90
48 .30
0.82
0.56
6.24
0.60
0.36
14.16
0.96
8.40
kD
1.05
785
17.50
3.50
5.50
3.50
0.72
0.72

22.00

——————————

£1971.18

£

344.95

£2316.13

E
£

29.42

36.80

£2382.35






